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Measured Apparent Resistivity Pseudosection Unit Electrode Spacing = 1.5 M.
EEeuss uie 12.0 24.0 36.0 M.
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Calculated Apparent Resistivity Pseudosection Unit Electrode Spacing = 1.5 M.
Itexration 6 RMS exrxroxr = 1.1 %

Depth 0 .0 1 1 L L L L I12 .la L 1 1 1 1 1 l24 -lo L L L L L 1 136 .la 1 1 L L L L M =
004 N =
1.1 - -
1-9 5 B
2.8 - I
3.7 4 -
4.8 - -
5.9 4 -
7.2 - o

[ N B =B 3 =B =B B ==——3 B =B =B N =N N |
7.0 9.9 14.0 19.8 28 .0 39.6 56 .0 79.2

Inverse Model Resistivity Section OHM.M Unit Electrode Spacing = 1.5 M.



